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nication is—

commu-
(A) Message — Sender —
Receiver

(B) Message — Receiver —

Sender

(C) Sender —
Receiver

Message —

(D) Receiver — Sender —
Message

Which of the following is the
conveyance of message commu-
nication ?

(A) Spoken

(B) Written

(C) Gesture and Symbols

(D) All of these

Which of the following is known
as effective communication ?

(A) When message and symbol
are transmitted accurately

(B) When speaker and listener
have equal quality

(C) When message source is
technically advanced

(D) When speaker has good
knowledge of the subject

Which of the following is not the
communication context ?

(A) Religious context

(B) Physical or Environmental
context

(C) Social context
(D) Psychological context

. Which of the following is a source
of non-verbal communication ?

(A) To give examples

(B) Pictorial representation
(C) To tell stories

(D) To ask questions

Which of the following is a
psychological barrier for effective
communication ?

10.
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ﬁ?r%mng perception

(B) Wrong pronunciation
(C) Wrong place

(D) Wrong gesture

Which of the following is correct
about communication ?

(A) Itis a dynamic process

(B) Itis a static process

(C) Itis both dynamic and static
process

(D) It is neither dynamic nor
static process

Which of the following is most
useful listening skill in commu-
nication ?

(A) Competitive listening

(B) Passive listening

(C) Active listening

(D) Biased listening

Which of the following princi-
ples is not related to effective
communication ?

(A) Clarity

(B) Attention
(C) Coordination
(D) Hierarchy

The essential condition for non-
verbal communication is—

(A) Sender and receiver both
must be physically fit

(B) Receiver must have high
mental ability

(C) Sender and receiver both
must belong to same cultural
context

(D) Sender should have high
language efficiency

Which of the following is most
suitable parameter of evaluation
of communication skill ?

(A) Barrier free communication
(B) Simple language

(C) Face to face contact

(D) Feedback

Directions—{(Q. 12 and 13) In the

following questions statements are
followed by conclusions. Choose the
answer response that gives the correct
conclusion which logically follows
from the given statements. You have
to take the given statements as true
even if they seem at variance with
commonly known facts.

12,

13.

14.

Statements :

Some scientists are literate.

No literate is intelligent.

Conclusions :

I. Some literates are scientists.

II. Some intelligents are scien-
tists.

III. Some scientists are not inte-
lligent.

IV. All intelligents are scientists.

(A) Only I and II follow
(B) Only II and III follow
(C) Only III and IV follow
(D) Only I and III follow

Statements :
All dogs are vegetarians.
All blacks are white.

Some vegetarians are black.
Conclusions :

I. Some whites are dogs.

II. Some blacks are dogs

ITI. Some whites are vegetarians.

(A) Only I conclusion follows

(B) Only II conclusion follows
(C) Only III conclusion follows

(D) Both conclusions II and III
tollow

Directions—The following state-
ment is followed by two argu-
ments numbered I and II. Decide
which of the options is correct
about the given arguments.
Statement: Should so much
money be spent on education ?

Arguments:
I. Yes, It is essential for all

round development of the
person. L



19.

16.

17.

for more materials visit educationobserver.com/forum

II. No, It leads to wastage of
resources.

(A) Only argument [ is strong

(B) Only argument Il is strong

(C) Both I and 1I arguments are

strong

(D) Neither I nor Il is strong

Directions—This question con-
tains six statements followed by
four set of combinations. Choose
the set in which the statements
are logically related.

Statements :

I. Some social workers are
honest people.

II. Some social workers are
laborious.

ITII. All honest people are labo-
rious.

IV. All laborious people are
honest.

V. Some laborious people are
social workers.

VI. Some who are honest, are
social workers.

(A) 1 II I (B) I 11, IV
(©) V,VLIV (D) I, VLI

Directions—Inthe question given
below a statement is followed by
two assumptions I and II. You
have to consider the statement
and the following assumptions
and decide which of the assump-
tions is implicit in the given
statement.

Statement :

“A house is required on rent.”
— an advertisement.

Assumptions :

I.  Houses are usually available
on rent.

II. People will read and respond
to the advertisement.

(A) Only assumption] isimplicit
(B) Only assumption II is im-
plicit

(C) BothIand II are implicit

(D) Neither I nor II is implicit

Directions : In the following
question a statement is followed
by two courses of actions I and II.
A course of action is a step to be
taken for improvement or follow
up in regard to the problem,
policy etc. on the basis of the
information given in the state-
ment. You have to assume every-

thing in the statement to be true,
then decide which of the two

given suggested courses of
actions logically follows for pur-
suing,.

Statement : The sale of shoes has
gone down considerably causing
great concern to the company.
Courses of action :

I.  The price of shoes should be
reduced.

II. The company should make a
study carefully about other
brands of shoes in the mar-

ket.
(A) Only I follows
(B) Only II follows
(C) BothIand Il follow
(D) Either I or Il follows

Directions—(Q. 18 and 19) In the
following questions a passage is
followed by some possible inferences.
You have to examine each inference
separately in the context of the
passage and decide upon its degree
of truth or falsity. Mark Answer—

(A) If you think the inference is
‘definitely true’

(B) 1If inference is “probably true’
though not definitely true in
the light of the facts given

(C) If “the data given is inade-

quate”, i.e., from the facts

given you cannot say
whether the inference is
likely to be true or false

(D) If the inference is ‘definitely

false’, i.e., it contradicts the

given facts.

Passage

Many parents who were un-
successful at Science and Maths
themselves have the depressing
experience when their children also
showing poor performance in the
Science and Maths. Being hopeless in
these subjects seems torun in families;
or does it ? While certainly it seems
likely that ‘confidence’ in Science and
Maths passes from parent to child, it
is less certain that ‘logical and mathe-
matical’ abilities are inherited in this
way.

18. Logical and Mathematical abili-
ties are acquired.

19. In some families, some genera-
tions together have been found
to be poor in science and mathe-
matics.

Directions—(Q. 20 to 22) A figure
is given below with four intersecting
circles, each circle representing a
group of persons having the quality
written against it. Study the figure
carefully and answer the questions
that follow. The number represents
the number of persons of related
quality.

Hardworking

Qs

Truthful Honest

Intelligent

20. What is the number of persons
who have all four qualities ?

(A) 89 (B) 67
(C) 20 (D) 45

21. The largest number of persons
related to the quality—
(A) Honest
(B) Hardworking
(C) Truthful
(D) Intelligent

22, How many persons have quality
of being honest as well as

intelligent ?
(A) 45 (B) 69
(€) 72 (D) 55

23. Which of the following diagrams
best depicts the relationship

between teacher, female and
mother ?
(A) (OO B) (D

@) OO

Directions—(Q. 24 to 26) Read
the following informations carefully
and answer the questions given
below : There is a group of six per-
sons A, B, C, D, E and F in a family.
They are Psychologist, Manager,
Lawyer, Jeweller, Doctor and Engi-
neer. The doctor is the grandfather of
F who is a psychologist. The manager
D is married to A. C, the Jeweller, is
married to the lawyer. B is the mother
of F and E. There are two married
couples in the family.

24, How is A relatedto E?
(A) Father
(B) Grandfather
(C) Uncle

(D) Brother 2
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Which of the following are the
married couple in the family ?
(A) AD and CE

(B) ADand FC

(C) AD and BE

(D) AD and BC

What is the profession of E ?
(A) Lawyer

(B) Doctor

(C) Engineer

(D) Cannot be determined

While walking along the river
bank you hear someone shou-
ting—save ! save !! You would—

(A) Also shout for help

(B) Jump into the river to save
the person

(C) Ask the coastguard to save
the person

(D) Do nothing and let the
person shout

When you pass by a meeting hall

in your office, you see that all the
fans and lights are on and

nobody is there in the hall. What
will you do ?

(A) Report to the officer in
charge

(B) Call the peon to switch off
the fans and lights

(C) You will switch off the fans
and lights yourself

(D) You will do nothing and
pass by thinking that it is not
your business

You need money to deposit
examination fees soon. While
walking on the road you find a
wallet containing money—

(A) You would keep the money
and deposit your examination
fees

(B) You would try to find out
the owner of the wallet

(C) You would handover the
wallet to the police

(D) You would distribute the
money among the poor

You get invitation card of your
friend’s 10-year old daughter’s
marriage. You would—

(A) Attend the marriage

(B) Report the matter to the
police

21 8
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(C) Neither attend the marriage
nor report the matter to the
police

(D) Point out to your friend the
illegality of the matter

A house in your neighbourhood
suddenly is set on fire. What

would you do ?

(A) Try to save your own house
first of all

(B) Shout to collect the people
(C) Inform the fire brigade

(D) Try to extinguish fire by
yourself and inform the fire
brigade

On your way to office you notice
a man lying on the road who was
hit by a two-wheeler. You are in
hurry to reach the office in time
as you will have to attend an
urgent meeting. What would you
do?

(A) You would not take notice
of it and go away

(B) You would simply inform
the police telephonically

(C) You would take the injured
to the hospital

(D) You would ask others to
take the injured to hospital

Your sister is appearing at a
competitive examination. You
are appointed as a paper setter of
one of the subjects of this exam.
What would you do ?

(A) Accept the offer and set the
paper

(B) Refuse the offer and not set
the paper

(C) Set the paper because your
sister i1s not appearing at exam of

that subject

(D) Keep the whole matter
confidential

You require an assistant. You are
asked to select a young man
from the group of interviewees.
You would select—

(A) One who is
strong
(B) One who is both physically
and mentally strong

physically

(C) One who is only clever and
good looking

(D) One who is honest though
physically weak

35.

36.
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The first step in the decision-
making process is which of the
following ?

(A) Developing decision criteria
(B) Allocating weights to the
criteria

(C) Analyzing alternatives

(D) Identifying a problem

Which of the following factor(s)
is/are considered while making
decision ?

(A) Facts

(B) Legal limitations

(C) Nature of the programme

(D) All of these

You have been invited to attend
interview for the post of Civil
Supply Officer by Public Service
Commission of your state. You
reach the railway station but
there is a long queue at the
booking window. The train is
about to leave. You board the
train without ticket. Ticket
checker enters your coach. Seeing

him you decide to—
(A) Hide yourself in the toilet

(B) Request the ticket checker to
let you travel on urgency of
attending the interview

(C) Produce yourself for neces-
sary legal action

(D) Begin to quarrel with the
ticket checker

Which of the following is not a
characteristic of effective decision
makers ?

(A) Initiative

(B) Comprehensiveness
(C) Flexibility

(D) Dogmatism

One of your subordinates is in
the habit of eating meals in a
restaurant without payment. You
come to know this through some-
one. You would—

(A) Enquire from the restaurant
owner

(B) Call the subordinate to your

room and reprimand and
suspend him

(C) Shout at the subordinate
and ask him to pay the amount

(D) Turn a blind eye thinking
that it is a minor event 3
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While travelling by a crowded
bus you notice that an old lady
having a small child in lap is
standing as there is no seat for
her to sit. What would you do ?
(A) Ask the conductor to make a
seat available for the lady

(B) Ask the lady to sit where
you are sitting

(C) Ask the lady not to travel by
the crowded bus

(D) Ask someone to offer his
seat to the lady

In a certain code, COMPUTER is
written as LNBVQSFU. How is
BULKHEAD written in that
code ?

(A) MVCILEBF
(B) KTAILEBF
(C) MTAGJEBF
(D) KTAGJEBF

If the letters in the word
POWERFUL are rearranged as
they appear in the English
alphabet, then the position of
how many letters will remain
unchanged after the rearrange-
ment ?

(A) None (B) One
(C) Two (D) Three
Find the missing number—
5, 16, 49, 104, ?, 280
(A) 115 (B) 148
(C) 170 (D) 181

In a certain code language CAT
is coded as 24, what will be the
code number for BAT in the
same code language ?

(A) 32 (B) 21
(C) 23 (D) 42

How many rectangles are there
in the following figure ?

(A) 15 (B) 16

(C) 17 (D) 18

If XY =600, ABC = 6, then GO +
DO will be equal to—

(A) 150 (B) 180

(C) 165 (D) 155

A man is facing north. He turns
45° in the clockwise direction

and then 90° in the anticlockwise

48.

49,

50.
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direction. Which direction is he
facing now ?

(A) South-west

(B) North-west

(C) South-east

(D) North-east

Pointing to a woman in a photo-
graph a man says, “Her mother’s

mother is the mother of my
father.” How is the man related

to the woman in the photo-
graph ?

(A) Uncle

(B) Grandson

(C) Nephew

(D) Maternal Cousin

If ‘sky” is called ‘sea’, ‘sea’ is
called ‘water’, ‘water” is called
‘air’, ‘air’ is called ‘cloud’ and
‘cloud’ is called ‘river’, then what
do we drink when thirsty ?

(A) Sky (B) Air

© (D) Sea

Which of the following diagrams

indicates the best relation bet-
ween travellers, train and bus ?

(A) @O (B) O O

(D) C@D

Which of the following does not
belong to the others ?

(A) Guitar (B) Violin
(C) Flute (D) Harp

Find out the alternative which
will replace the question mark ?

College : Student : :
(A) Nurse

(B) Doctor

(C) Treatment

(D) Patient

Kavita walked from A to B in the
East 10 feet. Then she turned to
the right and walked 3 feet.

Again she turned to the right and
walked 14 feet. Now, how far is

she from A ?

Water

© (OO

Hospital : ?

(A) 27 feet (B) 24 feet
(C) 5 feet (D) 4 feet
If + means —, — means x, x means

+ and + means +, then 16 + 4 x 2
-5+8=?
(A) 58
(C) 44

(B) 18
(D) 42

55.

57,
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Four different positions of a cube
is given below. Which number is
contained on the face opposite to
that containing 3 ?

D00E

(C) 4 (D) 5

The sum of four consecutive two
digit odd numbers, when divi-
ded by 10 becomes a perfect
square. Which of the following
can possibly be one of these four
numbers ?

(A) 21 (B) 25
(C) 41 (D) 67

In a class of 50 students, 18 take
Music, 26 take Art and 2 take
both Art and Music. How many
students in the class are not
enrolled in either Music or Art ?
(A) 6 (B) 8

(C) 10 (D) 16

Consider the number n (n + 1)
(2n + 1), where n is a positive
integer. Then which of the
following is necessarily false ?

(A) n(n+1)(2n + 1) is always
even

(B) n(n+1)(2n + 1) is always
divisible by 3

(C) n(n+1)(2n + 1) is always
divisible by the sum of squares
of first ‘'n’ integers

(D) n(n +1) 2n + 1) is never
divisible by 237

Satish was given some money by
his father on his birthday. Satish
spent all of it in five stores. In
each store he spent one rupee

more than half of what he had
when he came in. How much did

he get from his father ?
(A) ¥25 (B) 230
(C) 246 (D) T 62

The total age of some 7 years old
and some 5 years old children is
60 years. If a team is to be
selected from these children such
that their total age is 48 years, in
how many ways can it be done ?
(A) 1 (B) 2

C) 3 D) 4 4
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61. By how much isi th of 52 lesser

than%rd 0f99 2
(A) 27 (B) 33
(C) 39 (D) 29

62. If a number is subtracted from
the square of its one-half, the
result is 48. Which of the follow-

ing is a square root of that

number ?
(A) 8 (B) 6
(C) 4 (D) 2

63. The value of

(D)6
- 35)

is—
w3 @
el o

64. If the numerator of a fraction is

increased by 20% and its deno-
minator be decreased by 10%, the

value of the fraction is é? The

original fraction is—

(A) 3 B) 5
(© % ©) 3
1 =21 -1
65. The wvalue of [(—3)}
15—
(A) ‘8]1 (B) 531
(C) -81 (D) 81

Directions—(Q. 66 and 67) The
pie diagram given below shows the
spending of a family on various items
and its savings during a month.
Study the pie diagram and answer
the following questions—

Transport Savings

Clothings

/ Education

Food

66. If the total income of the family
is € 60,000, then the difference in
expenses on food and education

is—
(A) 26,000 (B) 4,000
(C) 23,000 (D) T4,500

67. Total spending by the family per

month is—
(A) 42,800 (B) 244,200
(C) 48400 (D) 249,200

Directions—(Q. 68 and 69)
These questions are followed by two
statements X and Y. Choose the
correct answer on the basis of the
given alternatives—

(A) Statement X alone is suffi-
cient to answer the question
asked but the statement Y
itself is not sufficient to
answer the question.

(B) Statement Y alone is suffi-
cient to answer the given
question, but statement X
alone is not sufficient to
answer the question.

Both the statements X and Y
together are sufficient to
answer the given question
but neither statement by
itself is sufficient to answer
the question.

(D) Two statements X and Y
even when taken together
are not sufficient to answer
the question.

68. Z is a number between 10 and 20.

What is the value of Z ?

Statement X :
number.

(©)

Z 18 an even

Statement Y : Z is a solution of
equation Z2 -23Z + 132 =0

69. What time will it take to travel
from E to F ? Travelling from E

to F and coming back from F to E
takes 5 hours.

Statement X : [t takes 20% more
time to travel from E to F than it

takes to travel from F to E.
Statement Y : G is midway

batiiean B and B anadae ke 2;

hours to travel from E to G and
back to E.

70. The average of 8 readings is 24-3,
out of which the average of first
two is 185 and that of next three
is 21-2. If the sixth reading is 3
less than seventh and 8 less

than eighth, what is the sixth

reading ?
(A) 24-8 (B) 265
(C) 276 (D) 29-4

Directions—Read the following
passages and answer the questions
given below—

Passage-1

People moan about poverty as a
great evil, and it seems to be an
accepted belief that if people had
plenty of money, they would be
happy and useful and get more out of
life. As a rule there is more genuine
satisfaction in life and more obtained
from life in humble cottages of the
poor man than in the palaces of the
rich. 1 always pity the sons and
daughters of the rich man, who are
attended by servants and have
governesses at a later stage; at the
same time, I am glade to think that
they do not know what they have
missed.

It is because I know how sweet,
happy and pure the home of honest
poverty, is how free from perplexing
care and from social envies and
jealousies—how loving and united
the members are in the common
interest of supporting the family, that
I sympathise with the rich man's boy
and congratulate the poor man'’s son.
It is for these reasons that from the
ranks of the poor so many strong,
eminent self-reliant men have always
sprung and must always spring. If
you will read the list of the
“Immortals who were born not to
die”, you will find that most of them
have been poor.

71. People moan about poverty as a

great evil because—

1. They cannot be happy in
poverty.

2. They cannot be useful in life.

3. They get less in poverty.

4. They fail to get genuine
satisfaction.

Which of the statements given

above are correct ?

(A) 1and3 (B) 2and 4

(C) 2and3 (D) 1and2

72. Why does the writer sympathise
with the rich man’s boys ?
Because they do not know that—
1. The house of the poor people

is sweet and pure.
2. The house of the poor people
is free from perplexing care.
3. The house of the poor people

is free from social compe-
tition.
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Which of the statement(s) given
above is/are correct ?

(A) Tand3 (B) 1and?2

(C) 1only (D) 2only

73. Which type of people have
sprung and will spring from the
ranks of the poor ?

(A) Strong, dominating and
eminent

(B) Eminent, dominating and
self-reliant

(C) Self-reliant, eminent and
strong
(D) Self-reliant, eminent and

God fearing

74. Why does the writer call the

cottages of the poor—humble
cottages ?

He call them so because—

(A) They are moderately furni-
shed

(B) They are poorly furnished
(C) They are not attractive
(D) They have nothing inside
them
75. The house of the poor is—
1. Sweet, happy and pure
2. Free from perplexing care
3. Free from social evils

Which of the statement(s) given
above is/ are correct ?

(A) 1and3 (B) 2and3
(C) 1land2 (D) 2only
Passage-II

Science has made human life
happier in many ways. It is difficult
to enumerate the advantages it has
conferred upon man. The last and not
the least important way in which
science has changed people and made
them more civilized is by making
them more tolerant.

A tolerant person is one who
does not interfere with other people,
even if he thinks they are wrong, he
may try to persuade them to believe
differently, but he will not try to force
them. A great deal of misery of
mankind in the past has sprung from
people being unwilling to tolerate
other people thinking differently
from themselves. This intolerance has
been particularly common in reli-
gious matters. People who did not
share the religious views of the rulers
were tortured and burnt alive. Two

persons, cherishing different religions
fought bloody battles. Science has
enabled man to reason and control
over-flowing passions that arise from
intolerance. In the present, the coun-
tries, firmly believing in two different
political ideologies are coming
together because they are becoming
more and more tolerant. If science has
increased the horrors of war, it has
increased the possibility of eternal
peace, too, which will come from
tolerance.

76. Science has made man tolerant
by—
(A) Making him think and
reason

(B) Making him more intelli-
gent

(C) Making him more civilized
(D) Making him happier

77. A tolerant person is one who—
1. Accepts the views of others.

2. Allows others to believe
what they believe without

punishing him.
3. Shows kindness to suffering
people.
Which of the statements given
above is/are correct ?
(A) 1and3 (B) 1 only
(C) 1and2 (D) 2and 3

78. Science has increased—
1. Horrors of wars.

2. Possibility  of
others.

3. Possibility of eternal peace.

torturing

4. Intolerance in man.

Which of the statements given
above is/ are correct ?

(A) Tand2  (B) 1only
(C) 1and3 (D) 2and 4

79. In past bloody battles were
fought due to—

(A) Scientific progress
(B) Advancement of civilization

(C) Persons having different
religious views

(D) Inventions of weapons
80. Science has enabled man to—
1. Think and reason.

2.  Control over intolerance.
3. Fight bloody wars.

Which of the statements given
above is/are correct ?

(A) land 2 (B) 2and 3
(C) 1only (D) 2 only

Passage-I111

So wise men of all nations have
got together to see if they cannot find
a way to getting rid of war together.
The first thing that is wanted is co-
operation among all the nations. Co-
operation is a big word but it simply
means working together. If nations
can learn to work together as friends,
they will soon find a way of settling
their disputes in a friendly way.
Instead of being jealous and proud of
their rights, they must learn to be
friendly, reasonable and anxious to
help each other. The second thing
that is wanted is the rule of law. Just
as the citizens of a country have laws
and agree to obey these laws, so all
the nations must agree to laws and
feel bound to obey and support them.
It all the nations work together for the
common good of mankind and agree
to obey these laws, they will never
fight with each other and there will
be no war.

81. The world can get rid of war if—

1. There is cooperation among
all the nations.

2. Nations settle their disputes
in a friendly way.

3. Nations are proud of their
rights.

Which of the statements given

above is/are correct ?

(A) 1only (B) 2and 3
(C) 1Tand3 (D) 1and2

82. When will nations find a way to
settle their disputes in a friendly

way ?

(A) When they 1 earn to obey
laws

(B) When they learn to work
together

(C) When they cease to be
proud of their rights

(D) When they agree to be
negligent of others

83. Nations will never fight if they—

1. Agree to work for the com-
mon good of mankind.

2. Learn to help others and
obey rules.

3. Learn to feel proud of their
possessions.

4. Agree to disagree. 6
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Which of the statements given
above is/are correct ?

(A) 1land 2 (B) 1 only

(C) 2and3 (D) 1and3

84. All nations must agree to laws
and feel bound to obey and
support them. This means—

(A) All nations must be out-
wardly forced to obey the laws

(B) All nations must willingly
feel obliged to obey the laws

(C) All nations must stick
together to obey laws

(D) All nations must promise to
obey laws

85. Through which of the following
channels a healthy person
acquires maximum knowledge ?

(A) Sight (B) Hearing

(C) Smell (D) Touch
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YT USdl &. PATBR ol & e
w9 & 8 [&ET F98 $3@, )9 98
3G WY B GEJd LAl &. §H IBR
Silgq &1 Hal U= IR HAT B wiad
R 96 Y9G 981 8. HamEs AUl
‘Bl Hal b v g fAERi |
Sirgq & for Suaift @er & SuweR
A g & efa S AfdeieRe g9 A
forar 8 —

"Had HARGH & 7 B B BH
&A1 A1fey

S99 Ifua Suew &1 H 79 BT
Ty

qd & Ol ol bl bl & A &

w@ifsft #Id Haar BT gef &

86. “&Hal 3T SgT ==y &
H 7 arad ® 7

(A) TH-GHR 9 9UF &

(B) U&H-gER TR fHq &

(C) &t 3=y dcg g anfég &

(D) o= § e Suard €
87. PITHI Hell 2 HH TS & 7

(A) S 799 gened &1 fasor sl
8l

(B) St 9T W anuiRd &l
(C) S SHg=gan &
(D) & Paraie WX narRd &

88. ®fd & AfYelleRor 7@ 9 &fa-
w4 & vy & war 8 fh—

(A) BT § FARGE 891 T1fRT

(B) &®fgar 9§ 9Hr9 &1 Iug 9
firet

(C) ®fd &1 IB¥Y HIF Higdr
fore=r &

(D) &fddar & #91RTH & IqIg-
a1y Sfga Iueer 9 8F1 Afev

Tl B 29 @ gHar &
qd AR 8. ASIAT DT HGAT B
gge HA H UKHNT B YD
HEdqUl &Rl 8. Yefad, SIS
IR wiwpfod tear @ gfic § AN
U IME P! TP AU Bl FIfey.
AT & Q¥ &I ARl 3R AEHd
o aEd IR WP ©. I B fhdt
&5 fquy @1 781, g AR U B
T B, S9H 9 9 T iR &gFa
feemm 2, I Ue rgwreT A Bl
aifey. fR=rfeat & e aifees 8,
fa<t # & waifae gz-ufy@ei &
JHIe BT B, MHREmEl, gIaeA
AR Ry ff =) wr # wga @
& HRU AIHNT qUT AEEE w9
q geW 8. FE-fasme IR d@a &
87 7 Rl Y@l @ B § g
g & 2. I1q: R & ffdfare vy |
HRT &) ICHINT 8.

89. = YRT & ISCHIW B, difh—
(A) =81 & IgHm & |99 o
3R e fuHE &

(B) a8 |=quf fR=iwrd wr=ai &1
dlerarel & | &
(C) &= &5 &1 gdzg 9 @l
oy # war @
(D) =<8 # waifyrs gz-ufF@ran
®I JHEH Bl 8

9(). ISCHNT B! AFIIHAT Fdi Bl
g7
(A) G 3R GBiAd & T4 &
ferg

(B) I UHhal @ WIGAT b
dagfq & fov

(C) YaT+ifosd HrRieay & forg

(D) 9XR faa & sneH-uaH
& forg

g2y & 9RT Bl 2 — T
Ol @ 1 ARA g @y W gl
& I8 §. 98 $™I-8Y @ AT # I
Wofal Y89l & 3R wRfisr &1 oo
fssw @Y o5 999 & fav wmfa @&
IgHT HIT 8. v A= 9ga STy

BT & 3T 3tarar | fifed g8 a9
QURI Dl &FAT & dIG P @D AR
Ud 399 o9l Hiedr Igar 8 U9
frg® &1 @S gve 9 B AFITH
Tél . 98 Wy sfed &lar Bd1 &, 98
Wad & RO G W T8 9. 399
ggHR gUs 3R T 8F1 7

91. fr=forRea su=t # & =11 HoH
wae ?
(A) s=1-gY ¥ URa F<e wga
& ATHRAAR T/ &
(B) fA=a1 ®=A ara Sia= ® araen
T8 AT
(C) 3o+ emar 9 Gifed fe®
qERl P FaTar 9 g IEar @
(D) fAs® o9 & 9 T &
92, '¥gi-gy’ 9MIf® ug H -
faftaa Targ 8 —
(A) TgeY  (B) HHURY

C) &8 (D) Fgdife

93, 'gfg @ S@HY Y1 oidl HieT
9 d@® &1 Ay fAeforfad g —
(A) TGAT 9 &7 SFT | gl
GiE||
(B) &1 R e
(C) dfc & di<d ¥ $5af PHAT
(D) 8 & U &I e B

YT AT
g & Aalke oMt A B

FAFT R T § AFdl &, J&l IR 8

f6 aR wafys sEwer & I &3

feafera grar &, S9aT IR ByA FI

. P8 999 & fau 98 fesdafdge
@ o B 8

Ay, o
K
g

aﬁwmﬁﬁﬁﬁmrtﬁmﬁé‘r
WEdl. U9 S9H! J-0T § FHT A

2 —39 ard-aef &1 s A8 YEAr
e A9 & 9 BT WY 8.

04. WAH® 3T H IR F41 faaferd
G
(A) ggfg @1 aaRs uvom &
HIRU]

(B) 9 & BRI
(C) A AR TV8 & BRI

(D) 9y & fae & fqaR &
PR

95. A9 &1 S ®©Y B mﬁm
g7
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(A) 99 g8 3T PHH BT M-
dieT Qg &

(B) 9§ 98 wIferqemelt &1 orar &

(C) 919 98 WY H! & ¥

qM odr 8

(D) W9 ggfg & WRoMY g &

STt &
96, 'fPodaafayg’ & #1 a9y & ?

(A) 3ra= 79 &

(B) HUT-IIIUT BT

(C) fafrrz oRRafy se=1 g

(D) ‘& &3, F1 q FI—TE

A H T S

A9 Site g9 gfte & G99 35S
T . S T iR faRivan Agsy @
urd &, 9 fopedl e amoft &1 78 s/
gfg 3R 9199 & 9o IR A9 30 9
ity wiferaemrell, @avAe 3R e
gifora} @1 ot IgH qu § R oA B
AT glg IR HouAT ¥ AT A FH-
fag & fat & @S &R srel g,
9 RU A9 9919 99 GHIG
HEATd B
97. SUYFd TP F AJAR AT D

3AT HT o MR T & ?

(A) gfg, Iy iR HegTdad

(B) #¥iiarar

(C) fRrem

(D) |+

Jgad BAR U0 §HTS @I 3ffd
U ol & 9ETS ¥ 9fd, Sa=en
IR ¥ B WWEAT P fv gErgg
Yollell &1 39&d  E3. Ud9d ol
amifie gfassr & wdargar 29
fag 99T Y. Y UE YR godql
ge & d9 uWvaR gar —ud &I
hael 9 3R =g ) ayiRa g
g dU 39 WeR &3 99 &1 Afde
Haed 8. g8 YR & ATH-¥GSg B

CIRPICES

08. Udl @I WA HAFET AT B8,
Fifeh —
(A) 99 9urell I~ grd=
ARYT &

(B) vara-¥muar & foo fum
g1 &

(C) Ul &1 haal §G 3R I
93 anyiRd & 8

(D) v=Id Afdear 9 947 8T 8

99. GTRIG-YUTel & I HfT gan
5 _

(A) JEEagIA smaegdar o
(B) 9uret ®# wiify, =mawenm 3R
R DI TATYAT AFegFH oA

(C) garad & gHra | gfersar o

(D) 99rad 39 =q fAffa fagm
¥ wnf¥ra g &

qifgcd Slad &1 ARG Bl
g 98 ollgd ¥ §de-IER &1 anyR
g9aT1 8 iR 79 & faewa— it
g9 & 91 oilaq ¥ &y g
&1 9d 8. 99 R egufa aww
3R wfdka & 9 AHIT P ghe
HIA &, 3 WA, gfoeN @ik
A B IFAHS TR U GHAEY
YEdl &. 39 3MER IR A, Sigaarey
gﬁmﬁ#mﬁrmé&:ﬁﬁmﬁw

100. TN & JFIR S99 # Fifed
B F qAFHT 7 ?
(A) Tife oifg & FagAr &I
AR 8 $dl 8
(B) 7991 &I [Qasas=1 g4+
4 grfey &1 IS TG Bl
g
(C) aifg oas d agiRedr
dar Hd &

(D) wifg Sllgd H &g A<
T W 2
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